

AN EXTREMUM PROBLEM CONCERNING ALGEBRAIC POLYNOMIALS

P. ERDŐS (Budapest), member of the Academy and A. K. VARMA (Gainesville)

Let S_n be the set of all polynomials whose degree does not exceed n and whose all zeros are real but lie outside $(-1, 1)$. Similarly, we say $p_n \in Q_n$ if $p_n(x)$ is a real polynomial whose all zeros lie outside the open disk with center at the origin and radius 1. Further we will denote by H_n the set of all polynomials of degree $\leq n$ and of the form

$$(1.1) \quad p_n(x) = \sum_{k=0}^n a_k q_{nk}(x), \quad \text{with } a_k \geq 0, \quad k = 0, 1, 2, \dots, n,$$

where $q_{nk}(x) = (1+x)^k(1-x)^{n-k}$. Elements of H_n are called polynomials with positive coefficients (in $1-x$ and $1+x$) by G. G. Lorentz.

The following inequalities for derivatives of polynomials of special type are known:

THEOREM A (P. Erdős). *Let $p_n \in S_n$ then*

$$\max_{-1 \leq x \leq 1} |p'_n(x)| \leq \frac{1}{2} en \max_{-1 \leq x \leq 1} |p_n(x)|.$$

Further, the constant $\frac{1}{2}e$ can not be replaced by a smaller one.

THEOREM B (G. G. Lorentz). *Let $p_n \in H_n$ then for each $r = 1, 2, \dots$ there exists a constant C_r for which*

$$(1.2) \quad \max_{-1 \leq x \leq 1} |p_n^{(r)}(x)| \leq C_r n^r \max_{-1 \leq x \leq 1} |p_n(x)|.$$

THEOREM C (J. T. Scheick). *If $p_n \in H_n$ and $n \geq 1$ then*

$$(1.3) \quad \max_{-1 \leq x \leq 1} |p'_n(x)| \leq \frac{1}{2} en \max_{-1 \leq x \leq 1} |p_n(x)|,$$

$$(1.4) \quad \max_{-1 \leq x \leq 1} |p''_n(x)| \leq en(n-1) \max_{-1 \leq x \leq 1} |p_n(x)|.$$

THEOREM D (A. K. Varma). *Let $p_n \in S_n$, then we have*

$$(1.5) \quad \int_{-1}^1 (1-x^2)(p'_n(x))^2 dx \leq \frac{n(n+1)(2n+3)}{4(2n+1)} \int_{-1}^1 (1-x^2)p_n^2(x) dx$$

with equality for $p_n(x)=(1+x)^n$ or $p_n(x)=(1-x)^n$. Moreover if $p_n(1)=p_n(-1)=0$ then for $n \geq 2$

$$(1.6) \quad \int_{-1}^1 (p'_n(x))^2 dx \cong \frac{n(2n+1)(n-1)}{4(2n-3)} \int_{-1}^1 (p_n(x))^2 dx,$$

equality holds for only $p_n(x)=c(1+x)(1-x)^{n-1}$ or $p_n(x)=c(1-x)(1+x)^{n-1}$.

It is known [2] that if $p_n \in \mathcal{S}_n$ (or $p_n \in \mathcal{Q}_n$) then $p_n \in H_n$ or $-p_n \in H_n$. Thus Theorem B as well Theorem C can be looked as a generalization of Theorem A. Similarly Theorem D is an extension of Theorem A in L_2 norm for $p_n \in \mathcal{S}_n$. The object of this paper is to extend Theorem B as well as Theorem D in L_2 norm for $p_n \in H_n$.

THEOREM 1. Let $p_n \in H_n$ then for $n \geq 2$

$$(1.7) \quad \int_{-1}^1 (p'_n(x))^2 dx \cong \frac{n(n-1)(2n+1)}{4(2n-3)} \int_{-1}^1 (p_n(x))^2 dx,$$

equality holds iff $p_n(x)=c(1+x)^{n-1}(1-x)$ or $p_n(x)=c(1+x)(1-x)^{n-1}$.

THEOREM 2. Let $p_n \in H_n$ then

$$(1.8) \quad \int_{-1}^1 (1-x^2)(p'_n(x))^2 dx \cong \frac{n(n+1)(2n+3)}{4(2n+1)} \int_{-1}^1 (1-x^2)p_n^2(x) dx$$

with equality for $p_n(x)=(1+x)^n$ or $p_n(x)=(1-x)^n$.

COROLLARY. If $p_n \in \mathcal{Q}_n$ then (1.7) and (1.8) are valid.

2. Some lemmas. For the proof of Theorem 1 and Theorem 2 we need the following lemmas.

LEMMA 2.1. Let $p_n \in H_n$. Then we have

$$(2.1) \quad \int_{-1}^1 (1-x^2)p_n^2(x) dx \cong \frac{2(2n+1)}{(n+1)(2n+3)} \int_{-1}^1 p_n^2(x) dx.$$

PROOF. From (1.1) we have

$$(2.2) \quad p_n^2(x) = \sum_{p+q=2n} a_{pq}(1+x)^p(1-x)^q, \quad a_{pq} \cong 0.$$

Hence we may write

$$\int_{-1}^1 (1-x^2)p_n^2(x) dx = \sum_{p+q=2n} a_{pq} \int_{-1}^1 (1+x)^{p+1}(1-x)^{q+1} dx.$$

But on using

$$(2.3) \quad \frac{\int_{-1}^1 (1+x)^{p+1}(1-x)^{q+1} dx}{\int_{-1}^1 (1+x)^p(1-x)^q dx} = \frac{4(p+1)(q+1)}{(p+q+3)(p+q+2)}$$

and simple computation the lemma follows. Note that equality in (2.1) holds for $p_n^2(x) = (1+x)^{2n}$ or $p_n^2(x) = (1-x)^{2n}$.

LEMMA 2.2. Let $p_n \in H_n$ and suppose that

$$(2.4) \quad p_n(1) = p_n(-1) = 0.$$

Then for $n \geq 2$ we have

$$(2.5) \quad \frac{\int_{-1}^1 (p_n'(x))^2 dx}{\int_{-1}^1 (p_n(x))^2 dx} \leq \frac{n(n-1)(2n+1)}{4(2n-3)},$$

equality iff $p_n(x) = (1+x)(1-x)^{n-1}$ or $p_n(x) = (1-x)(1+x)^{n-1}$.

PROOF. From (1.1) and (2.4) we may write

$$(2.6) \quad p_n(x) = \sum_{k=1}^{n-1} a_{kn} (1-x)^k (1+x)^{n-k}, \quad a_{kn} \geq 0, \quad 1 \leq k \leq n-1.$$

Therefore

$$\int_{-1}^1 p_n^2(x) dx = \sum_{j=1}^{n-1} \sum_{k=1}^{n-1} a_{kn} a_{jn} \int_{-1}^1 (1+x)^{2n-k-j} (1-x)^{k+j} dx.$$

On using the known formula

$$(2.7) \quad \int_{-1}^1 (1-x)^p (1+x)^q dx = \frac{2^{p+q+1} \Gamma(p+1) \Gamma(q+1)}{\Gamma(p+q+2)},$$

we have

$$(2.8) \quad \int_{-1}^1 p_n^2(x) dx = \sum_{j=1}^{n-1} \sum_{k=1}^{n-1} \frac{a_{kn} a_{jn} 2^{2n+1} \Gamma(k+j+1) \Gamma(2n-k-j+1)}{\Gamma(2n+2)}.$$

Next, we turn to prove that

$$(2.9) \quad \int_{-1}^1 (p_n'(x))^2 dx \leq \frac{2^{2n-2}(n-1)}{(2n-3)} \sum_{j=1}^{n-1} \sum_{k=1}^{n-1} \frac{a_{kn} a_{jn} \Gamma(k+j+1) \Gamma(2n-k-j)}{\Gamma(2n)}.$$

To prove (2.9) we first note that if

$$(2.10) \quad q_{kn}(x) = (1-x)^k (1+x)^{n-k},$$

then

$$(2.11) \quad q'_{kn}(x) = -k(1-x)^{k-1} (1+x)^{n-k} + (n-k)(1-x)^k (1+x)^{n-k-1},$$

and on using (2.7) we have

$$(2.12) \quad I_{k,j} = \int_{-1}^1 q'_{kn}(x) q'_{jn}(x) dx = \frac{2^{2n-1}}{\Gamma(2n)} [kj\Gamma(k+j-1)\Gamma(2n-j-k+1) + (n-k)(n-j)\Gamma(k+j+1)\Gamma(2n-k-j-1) - ((j(n-k)+k(n-j))\Gamma(k+j)\Gamma(2n-j-k))].$$

After a simple computation it can be shown that

$$(2.13) \quad I_{k,j} = \frac{2^{2n-1}(n-1)\Gamma(k+j+1)\Gamma(2n-j-k+1)}{\Gamma(2n)} \mu_{k,j}$$

where

$$\mu_{k,j} = \frac{n(k+j) - 2kj - n(k-j)^2}{(k+j)(k+j-1)(2n-j-k)(2n-j-k-1)}.$$

Next, we will show that for $k, j = 1, 2, \dots, n-1$

$$(2.14) \quad \mu_{k,j} \cong \frac{1}{2(2n-3)},$$

equality holds only for $k=1, j=1$, or $k=n-1, j=n-1$. In (2.13) let $k+j=l$ then (2.14) is equivalent to

$$l(l-1)(2n-l)(2n-l-1) \cong (2n-3)[2nl - 2n(k-j)^2 - 4kj]$$

or

$$l(l-1)(2n-l)(2n-l-1) \cong (2n-3)\{2nl - l^2 - (2n-1)(k-j)^2\}$$

or

$$l(2n-l)(l-2)(2n-l-2) + (2n-1)(2n-3)(k-j)^2 \cong 0.$$

This proves (2.14). Now, one using (2.13) and (2.14) we have

$$(2.15) \quad \int_{-1}^1 q'_{kn}(x)q'_{jn}(x) dx \cong \frac{2^{2n-2}(n-1)\Gamma(k+j+1)\Gamma(2n-j-k+1)}{(2n-3)\Gamma(2n)}.$$

Now, on using (2.15), (2.10), (2.11), we obtain (2.9). Further from (2.9) and (2.8) we have (2.5). This proves Lemma 2.2.

3. Proof of Theorem 1. Let $p_n \in H_n$. Then from (1.1) we have

$$(3.1) \quad p_n(x) = a_0(1+x)^n + a_n(1-x)^n + q_n(x)$$

where

$$(3.2) \quad q_n(x) = \sum_{k=1}^{n-1} a_k(1+x)^{n-k}(1-x)^k, \quad a_k \cong 0.$$

We note that $q_n(1) = q_n(-1) = 0$, therefore on using Lemma 2.2 we have

$$(3.3) \quad \frac{\int_{-1}^1 q'_n(x)^2 dx}{\int_{-1}^1 q_n(x)^2 dx} \cong \frac{n}{4} \frac{(2n+1)(n-1)}{2n-3}, \quad n \cong 2.$$

Next, from (3.1) and (3.2) we have

$$(3.4) \quad \int_{-1}^1 p'_n(x)^2 dx = \frac{n^2 2^{2n-1}}{2n-1} (a_0^2 + a_n^2) + \int_{-1}^1 q'_n(x)^2 dx + \\ + 2n \int_{-1}^1 (a_0(1+x)^{n-1} - a_n(1-x)^{n-1}) q'_n(x) dx - 2a_0 a_n n^2 \int_{-1}^1 (1-x^2)^{n-1} dx.$$

By integrating by parts we obtain

$$(3.5) \quad \int_{-1}^1 q'_n(x) \{a_0(1+x)^{n-1} - a_n(1-x)^{n-1}\} dx = \\ = -(n-1) \int_{-1}^1 q_n(x) \{a_0(1+x)^{n-2} + a_n(1-x)^{n-2}\} dx \leq 0.$$

From (3.4) and (3.5) we obtain

$$(3.6) \quad \int_{-1}^1 p'_n(x)^2 dx \leq \int_{-1}^1 q'_n(x)^2 dx + \frac{2^{2n-1} n^2 (a_0^2 + a_n^2)}{2n-1}.$$

Also from (3.1) it follows that

$$(3.7) \quad \int_{-1}^1 p_n^2(x) dx \geq \frac{(a_0^2 + a_n^2) 2^{2n+1}}{2n+1} + \int_{-1}^1 q_n^2(x) dx.$$

Therefore by (3.6) and (3.7) we have

$$(3.8) \quad \frac{\int_{-1}^1 p'_n(x)^2 dx}{\int_{-1}^1 p_n^2(x) dx} \leq \frac{\int_{-1}^1 q'_n(x)^2 dx + \frac{2^{2n-1} n^2 (a_0^2 + a_n^2)}{2n-1}}{\int_{-1}^1 q_n^2(x) dx + \frac{(a_0^2 + a_n^2) 2^{2n+1}}{2n+1}}.$$

It is easy to verify that

$$(3.9) \quad \frac{2^{2n-1} n^2 (a_0^2 + a_n^2)}{2n-1} < \frac{2^{2n+1} (a_0^2 + a_n^2)}{(2n+1)} \frac{n}{4} \frac{(2n+1)(n-1)}{(2n-3)}.$$

Using (3.9) and (3.3) we obtain

$$\frac{\int_{-1}^1 p'_n(x)^2 dx}{\int_{-1}^1 p_n^2(x) dx} \leq \frac{n}{4} \frac{(2n+1)(n-1)}{(2n-3)}.$$

This proves Theorem 1.

4. Proof of Theorem 2. Let $p_n \in H_n$. First we write

$$(4.1) \quad \frac{\int_{-1}^1 (1-x^2) p_n'(x)^2 dx}{\int_{-1}^1 (1-x^2) p_n^2(x) dx} = \frac{\int_{-1}^1 (1-x^2) p_n'(x)^2 dx}{\int_{-1}^1 p_n^2(x) dx} \frac{\int_{-1}^1 p_n^2(x) dx}{\int_{-1}^1 (1-x^2) p_n^2(x) dx}.$$

On using Lemma (2.1) we obtain

$$(4.2) \quad \frac{\int_{-1}^1 p_n^2(x) dx}{\int_{-1}^1 (1-x^2) p_n^2(x) dx} \cong \frac{(n+1)(2n+3)}{2(2n+1)},$$

equality holds for $p_n(x)=(1+x)^n$ or $p_n(x)=(1-x)^n$. Next, we will prove that for $p_n \in H_n$

$$(4.3) \quad \frac{\int_{-1}^1 (1-x^2) p_n'(x)^2 dx}{\int_{-1}^1 p_n^2(x) dx} \cong \frac{n}{2},$$

equality holds for $p_n(x)=(1+x)^k(1-x)^{n-k}$ $k=0, 1, \dots, n$. Let $p_n \in H_n$. Then we may write

$$(4.4) \quad p_n(x) = \sum_{k=0}^n a_{kn} (1-x)^k (1+x)^{n-k} \cong \sum_{k=0}^n a_{kn} q_{kn}(x).$$

Following the proof of Lemma 2.2 we first note that

$$(4.5) \quad \int_{-1}^1 q'_{kn}(x) q'_{jn}(x) (1-x^2) dx = \frac{2^{2n+1} \Gamma(k+j+1) \Gamma(2n-k-j+1)}{\Gamma(2n+2)} \mu_{kj}$$

where by $k+j=l$,

$$(4.6) \quad \mu_{kj} = \frac{(2n-l)(2n-l+1)kj + (n^2 - nl + kj)l(l+1) - l(2n-l)(nl-2kj)}{l(2n-l)} = \frac{\frac{n}{2} l(2n-l) - \frac{n}{2} (2n+1)(k-j)^2}{l(2n-l)} \cong \frac{n}{2}$$

equality holds iff $k=j$, $k=0, 1, \dots, n$. Therefore

$$(4.7) \quad \int_{-1}^1 q'_{kn}(x) q'_{jn}(x) (1-x^2) dx \cong 2^{2n+1} \frac{n}{2} \frac{\Gamma(k+j+1) \Gamma(2n-k-j+1)}{\Gamma(2n+2)}.$$

By using (4.4), (4.7) we have

$$\begin{aligned} \int_{-1}^1 (1-x^2)p'_n(x)^2 dx &\cong \frac{2^{2n+1}}{\Gamma(2n+2)} \frac{n}{2} \sum_{k=0}^n \sum_{j=0}^n a_{kn} a_{jn} \Gamma(k+j+1) \Gamma(2n-k-j+1) = \\ &= \frac{n}{2} \int_{-1}^1 p_n^2(x) dx. \end{aligned}$$

This proves (4.3). Now, using (4.1)–(4.3) we have

$$\frac{\int_{-1}^1 p'_n(x)^2 (1-x^2) dx}{\int_{-1}^1 p_n(x)^2 (1-x^2) dx} \cong \frac{n(n+1)(2n+3)}{2(2n+1)}.$$

This proves Theorem 2 as well.

References

- [1] P. Erdős, Extremal properties of polynomials, *Annals of Mathematics*, **4** (1940), 310–313.
- [2] G. G. Lorentz, Degree of Approximation by polynomials with positive coefficients, *Math. Ann.*, **151** (1963), 239–251.
- [3] J. T. Scheick, Inequalities for derivatives of polynomials of special type, *J. Approx. Th.*, **6** (1972), 354–358.
- [4] A. K. Varma, Some inequalities of algebraic polynomials having real zeros, *Proc. Amer. Math. Soc.*, **75** (1979), 243–250.
- [5] A. K. Varma, An analogue of some inequalities of P. Erdős and P. Turán concerning algebraic polynomials satisfying certain conditions, *Colloquia Mathematica Societatis János Bolyai*, **19**, Fourier Analysis and Approximation theory, Budapest, 1976.

(Received December 2, 1983)

MATHEMATICAL INSTITUTE OF THE
HUNGARIAN ACADEMY OF SCIENCES
BUDAPEST, REALTANODA U. 13–15
H–1053, HUNGARY

DEPARTMENT OF MATHEMATICS
UNIVERSITY OF FLORIDA
GAINESVILLE, FLORIDA 32611
USA